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01 2hoit] 3.360 3.360 0
OMBEI ©1& 70,0008 * 2% + 22 « 123l 3.360
01 YerEA 5,600 5,600 0
10 BAAHIR A 5,600 5,600 0
OZMHOIMKHE FIHXt ot
70,0002 * 802 5,600
307 BI2+0IF 1,054,500 1,014,000 40,500
04 BI2FEALBE 1,054,500 1,014,000 40,500
OA WEZ He2Hsl 3,000,000% * 14! 3,000
O WBZ H2Hs 3,000,000% * 14! 3,000
OAFIIEDI 2ABH3 X2
3,000,009 * 85S 24,000
ORZSSAMSHIXNA 49l 752
50,000,008 * 8IHES 400,000
ONSSIE=S L HASS 84 60,000
—=J|z= 2,500,000% * 1052 25,000
—FoES 2,500,008 * 1052 25,000
=R P L] 5,000,008 * 23l 10,000
Oz=g ASHUSHE FIHFH)
1,000,008 * 1052 10,000
OZ% H20H3 SHYSNY
20,000,0008 * 13| 20,000
OBNSTHHAMSHEHIHL2E HS=X
&) 50,0002 * 802 4,000
ORI488) Z=ZSASHE &I
3,000,000%! * 13l 3,000
ON32sl SFAILHSHE HE B 310,000
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SH: QYA
ol JgDet PE(SHLAB/MS)
ool HSHY £4 (S5l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
ETEET] 100,000,002 * 1] 100,000
—NOIRISHS SHE X
10,000,002 * 19MHSHE 190,000
—NOIHSHE 5.0S SR
1,000,0002 * 20042 20,000
ORI493] A= SIS &I 2b|
210,000,0002 * 13| 210,000
ORXI493l ZETOHSHE Halal It
7,500,0002 * 18l 7,500
MEHS S4 289,480 309,480 20,000
301 YErEAa 39,480 39,480 0
10 BAAHIE A2 39,480 39,480 0
OMEHSNTT RO
70,0008 * 8% * 22 x 43l 4,480
OF=MHE L THSETI(HOEE S) B2
2 & 1,000,0008 * 1552 15,000
OZXADI B2 M2HSHE (S S)
,000,0008 * 2052 20,000
307 Q1201 250,000 270,000 £20,000
04 DIRISALRE 250,000 270,000 20,000
OFZ U CHAMBUSHE R (57, 48
kS 40,000,0008 * 23l 80,000
OREANEY HHMBHSHE &F
5,000,0002 * 13l 5,000
OYS024 MEBUSHS B
15,000,0002 * 13| 15,000
OM218 B2l MBHIHE &
55,000,000 * 18l 55,000
OAZIAY 2I1T43] 10,000,002 * 23| 20,000
oF=ed 203 12,000
— X120 & CH 3 10,000,002 * 13 10,000
A 1,000,008 * 2! 2,000
OAIDI 4 2 H S 04 3l 3,000,008 * 6% 18,000
02011 HHIESZH HOIESS
5,000,0008 * 18l 15,000
02011 HUIZZ B2EZH S5
30,000,000 * 18l 30,000
NRENHSSHILSLXRA () 1,120,000 1,120,000 0
= 170,000
Al 950,000
307 QI2H0IH 1,120,000 1,120,000 0
= 170,000
Al 950,000
02 QIAMNBE 1,120,000 1,120,000 0
QML (S, 24 ,24)84 N
1,120,000,000% * 1&l2fEl 1,120,000




SH: QYA
ol JgDet PE(SHLAB/MS)
ool HSHY £4 (Sl &2)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
< 170,000
Al 950,000
NZHZUHSESXIA(R) 41,856 41,856 0
| 20,928
Al 20,928
307 QI2H0|H 41,856 41,856 0
o] 20,928
Al 20,928
02 PINBAEE 41,856 41,856 0
ONZOI2 4 M SIS X X X
20,928,0002! * 2% 41,856
| 20,928
Al 20,928
A2 E RIS X & XX (2) 125,568 125,568 0
| 62,784
Al 62,784
307 Q1201 125,568 125,568 0
| 62,784
Al 62,784
02 pIABNBE 125,568 125,568 0
ONZMEHMSKE tHX
20,928,008 * 6% 125,568
| 62,784
Al 62,784
N2MEHSElE 2SR () 19,000 16,000 3,000
= 4,000
Al 15,000
307 Q201 19,000 16,000 3,000
= 4,000
Al 15,000
02 DINANBE 19,000 16,000 3,000
OMEHSS 24 N
19,000,002 * 1HEH 19,000
= 4,000
Al 15,000
MEHSDALY(T) 36, 120 35, 100 1,020
= 11,550
Al 24,570
307 QI2H0IH 36, 120 35, 100 1,020
= 1,550
Al 24,570
04 DIRISALRE 36, 120 35,100 1,020
OMEHSLA (SR, HUA S 1052)2Y
3,612,002 * 1052 36, 120
= 11,550
Al 24,570




SARIREUPY
33 M=
el M=

el
x
bl
-
i
4o
fon
2
>
el
=
R
=i
0x
o
=
[
2
2
R
12
o
£l
0l%
IS

HMSHHAIE A (2) 48,565 23,100 25,465
34,016
4,400
10, 149

= Y

307 GI12t0ld 48,565 23,100 25,465
34,016
4,400
10,149

= mn X

02 BIAHANEX 48,565 23,100 25,465

48,565,000& = 14! 48,565
34,016
4,400
10,149

=Y

FEAMMOUENHS XA (Z) 180,000 180,000 0

30,000
150,000

=

307 2120l & 180,000 180,000 0

30,000
150,000

= H

04 RIRFHAIE X 180,000 180,000 0
A

180,000,000 * 14! 180,000

30,000
150,000

= M

S3CN2ES ¥ 2 (L 22/25 0 =) 262,975 373,584
23,000

3,000
236,975

A 110,609

= H A

cH2 =29 262,975 373,584
23,000
3,000
236,975

A 110,609

= H A

=
w
n
x
i
MO
11%

176,759 342,246

19,000
157,759

A165,487

=M

IS}
e
Y
==

10,640 9,997 643

04

—
v
2d
=

10,640 9,997 643
£ 10,640

—oon
H

He
&
4 4
o
o

HT Y

O
| H
SN ox

Mt

[
R

Jon
oo

>
of

35,000& * 2% + 1202
35,0008 » 2% » 26
35,0008 » 2% * 6

8,400
1,820
420

e
T
H0
02

(4 4 W v H

83,699

69,249

14,450

>
10
1=
o
=

O
]
k-

Hn
1
He

0%
b
Ol
o

& 50,000& * 128

13,695
600

13,695
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M At
M DTCABEE L 2(2HLBY/23002)
el AP 29 (sl &
S FB SR (E) - NRAY - Be S 0 &t Soe RS2
ooExXs oA 7Y 35,000& * 308t~ 1,050
OFJItdd=E 2 15,0008 * 128 * 128 2,160
OEAME2IESHI 5,000
—EANEeES 2008 * 2& = 10,000 4,000
—SAUHES MA 2 2003 = 5,0000H 1,000
OUXNETza 2l 1,000
—XNE4 e 2 30,000& = 200K 600
—XNE4 PC el
100,000& = 20CH * 20/100 400
ONBENZ 2H2RA3 &4 Lo
70,0003 » 9% * 23 1,260
OEAHZ 2228 24
5,000& * 1& » 365¢ 1,825
OBEA(SAEE) HE 500& = 1,0000H 500
OSAEE MY &2 H& 60,0008 = 5K 300
02 3224l 70,004 55,554 14,450
OANEEZAM2 2tel 70,004
—HIIAIE= 5,170& = 250kw » 128 15,510
—aot=E AIZE 250,000& = 128 3,000
—fIgsS g2k S| 40,000& = 13/ 40
—2ZNE RE= 300,000& * 23 600
—TA&E3 A2l 420,000& * 12l 420
— et 1,5008 = 10L » BAIZ2+ = 120 14,400
— =% 2,434 « 808m = 50/100 984
—HHEIAIAE R 1,200,000 * 14! 1,200
—dREANAE FEX Ot0IAE WA
11,000,000& = 14| 11,000
—HEAAS (MY, 238 )K[ X
1,200,000& = 128 * 6/12 7,200
—MA0FAAE SXIH 110,0008 ~ 128 1,320
—TAzZelZ20d Al
150,000& = 123 1,800
—HEE HOE P 160,000& = 1094 1,600
—ZHO0IXl SXldl 170,000& = 98 1,530
—SAEAYXAAE =X
3,000,000& * 14! 3,000
—SZdT 2 otFED| WA 500,000& * 14 500
—d3tx ¥ ot B2 A
200,000& * 14 200
—s%3 A 250,000& = 22l 500
—otd e =2  200,000& * 28 * 128 4,800
—UXEX=4 O Sclol 22
100,000 = 4CH 400
206 M2 H| 400 0 400
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OITH 2k & 1t
SBCANES L 2 (2L 2Z/250=)
CHE 2 (ero): &
SN -ZH A (ZH) - MFAY - BES Aol a4 Hlw &2
. T ° . [= Bl e =5 O:H{ﬂ,% Lsa
01 M=z=Hl 400 0 400
OxZs el 400
—HI=H 50,000& * 2& * 349 300
—&=A 20,000& » 1& * 549 100
401 A EHIZL 2048 12,120 0 12,120
01 Al&H] 12,120 0 12,120
O AT 24 ST A
20,000& * 404m = 1.5 12,120
403 X SHMSAH=01H 40,000 40,000 0
= 15,000
Al 25,000
02 SI|2SO0ICHSHCHE At B 40,000 40,000 0
O33=AMZ R=2bl(2H)
20,000,000 * 2002 40,000
= 15,000
Al 25,000
405 KHAHFESHI 29,900 23,000 6,900
= 4,000
Al 25,900
01 XYL 2EFSHI 1,900 0 1,900
OXGH =8 WH 950,000& * 2CH 1,900
02 &&=l 28,000 23,000 5,000
OEMFP(2H) 20,000
—BtE A 10,000& = 1,000& 10,000
= 2,000
Al 8,000
—0ts&AM 10,000& = 1,000 10,000
= 2,000
Al 8,000
OHIE M (0VD) 7 & 25,000& * 120& 3,000
OUXNEHH=(MIM )7L
50,000& * 1008 5,000
ReC B ZM Y 2 40,216 25,338 14,878
= 4,000
Al 36,216
101 elHH| 16,416 11,838 4,578
04 JINM2ERHSE A 16,416 11,838 4,578
ReThB 2% ozl 16,416
—JI2s 4,500% * BAIZE » 4T x 120 12,960
— =5 4,5003 * BAIZ2H » 4H » 26 2,808
—E Xt 4,500 * 6AIZ2H » 4H * 6 648
201 Lty 2,000 2,500 A500
01 AbR2t2lH| 2,000 2,500 A500
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M At
2t

N IJTNEES L 2Y(SHLB/25H02)
ool TAE 2% (e @e
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ol AF o8 Hws2
OX2T A2 2YAHl 1,000,008 * 2)H2 2,000
207 S| 1,800 0 1,800
02 FADHE] 1,800 0 1,800
ORSEAZ THB2IZZ D2 (KLASYS) & X
1,800,008 * 14l 1,800
405 XtarF S| 20,000 11,000 9,000
= 4,000
Al 16,000
02 SAHRAL] 20,000 11,000 9,000
ORY A 10,0008 * 1,0002 * 244 20,000
= 4,000
Al 16,000
ReC B E&(E) 6,000 6,000 0
= 3,000
Al 3,000
403 XHXI GHRI S XH2 0| & 6,000 6,000 0
= 3,000
Al 3,000
02 271 2HS Ofl CHat CH 8 AL 6,000 6,000 0
Ot DI EN 22|
500,0008 * 1H4 + 128 6,000
= 3,000
Al 3,000
SHRENY 29 40,000 0 40,000
201 Yereg| 10,000 0 10,000
03 BAI2 Y| 10,000 0 10,000
OSAEE Z208 2% 10,000,002 * 14 10,000
307 212+0I & 30,000 0 30,000
04 CIABALR E 30,000 0 30,000
OSMH & J1=sA 20,000,009 * 14! 20,000
ONBISNZAE BHABE
10,000,0008 * 14! 10,000
HHSA LY (Y S D) (JIEHIIE) 158,132 152,902 5,230
olzi2 | 55,512 52,284 3,228
olzi 2| 55,512 52,284 3,228
101 @124t 55,512 52,284 3,228
03 RIIHAZ 2N S 55,512 52,284 3,228
OOIXIS HAHOIYE 2ol 29,766
-3 40,0008 * 1% + 249 9,960
— &0l 2 5,00021 * 209AI2F * 400% 4,180
—HEEIL 50008 * 200AI2F * 75% * 23] 1,568
—JIELG(BHRX) 40,0008 « 1% « 128 480
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ST R D =P}
Y HE LAY (TS ) (IIEH/IIE})
&l QI 2AH| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
== (JIEh 20,000& * 2% * 12& 480
— 2Bt Y 10,000& = 1048 = 12& 1,200
— Aol RR A
7,500& * 15A12t » 1 = 128 1,350
—ga2esy
40,0002 * 150% » 1@ = 90 5,400
—F5x=E 40,0003 * 52¢& 2,080
—5= 52+ 40,0003 » 1€ » 12& 480
—XRE50t =5 40,0008 * 1% » 19& 760
— =gl 100,000& = 1H = 12& 1,200
—wEH| 44,0008 » 18 » 123 528
— =4l 100,000& = 14 » 1H 100
OANE A2 HAr22| 25,746
—Jl=22 40,0003 » 1¥ » 249 9,960
—o0=
5,000& * 209A12t * 100% * 1H = 43 4,180
—HESOt
5,000 *= 209A12t = 75% *» 19 * 23] 1,568
— 25tk
10,000& * 1€ » 649 * 128 720
—AN2te 2R+Y
7,500& * 15AI2t » 12 » 123 1,350
—54 22
40,0002 * 150% » 16 = 50 3,000
— 5= 40,0003 » 1€ » 52 2,080
—Fa 5¢=E 40,0003 » 1€ » 12 480
—AXt=E 40,0003 » 1 » 17 680
—= gl 100,000& = 1& * 128 1,200
— WSl 44,0002 * 18 = 123 528
o= 102,620 100,618 2,002
Jl=&d| 102,620 100,618 2,002
201 et 20,020 18,018 2,002
01 AtS 22l 20,020 18,018 2,002
OJI=2dE AMNRESHI 3,120
—SAMEX 2L
13,000& * 202 A « 12& 3,120
OS2 04 5,000& * 64 « 20 » 128 7,200
Ogtt 2 100,000& = 122 1,200
OL1E EM7SHI 50,000& * 12& 600
OLA2 =&l 6,700
—SAI(2E) =2 500,000& * 1CH 500
— el =2l 100,000& = 4CH = 50/100 200
—=A| EY 200,000& = 53 » 1CH 1,000
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SA: ol

M
Y HE LAY (TS ) (IIEH/IIE})
&2l Jl=&Hl
_ _ _ Muo
SNBSS - HRAY - BHES 01l & o4 i
—H2IE (&%) E4  200,000& * 53 * 404 4,000
—pc==2l 100,000 = 20CH = 20/100 400
—J|Et==cld| 50,000& * 12& 600
OJIEH At2 22l 5,000& » 2098 * 12& 1,200
202 O4H| 77,200 77,200
01 =AY 77,200 77,200
O2L Al 20,0003 * 209H « 128 « 128 57,600
O22 o bl 70,000& » 20 * 14 19,600
203 HRF&HI 4,200 4,200
04 EARIERFEHI 4,200 4,200
ORN2IHRF&HI 350,000& = 123 4,200
204 XA 1,200 1,200
01 g2 FH| 1,200 1,200
OXMIAYDL A (O T LS )
100,000& = 1H = 12& 1,200
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